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— 1799 972 IR TP KD R 7327
And what do the 3322 do with this 7yn 8

OVERVIEW

The mwn cited' a dispute between 71271 1" in a case where 72m7 077V testified that
someone is liable for np?»; where »" maintains that the 717 27V receive Mpon
twice (once for transgressing the > of mwn X% and another to implement the
punishment of "3 an7 9WR3 12 on*wwy), while the 7127 maintain that the 1"V receive
mpon only once (to enact the ont "wXD, but not for 7Iwn X?). The X3 here asks
what do the 1127 do with the X of 71yn X%; why do not the 1"¥ receive mpon for
transgressing this W>?> Our moon discusses (and rejects) reasons why there is no
mpYn for transgressing mvn Xo.

Mmoo responds to an anticipated question:
- AUPN 12 PRY INY 17T DIV “Mayn KY 533 *rub NPT RNT

For that which the X" stated previously regarding miyn 8% (that we cannot
derive the mpYn 20 from 719N X), because it is a TRYR 12 PRW IR® —

mooIN rejects this solution:
- 51‘,7"181‘11‘! NI IND N 139N

For this is so (that there is no > for transgressing 7avn &?) if not for the oo of

PITRM, etc. -
-1391 X9 S99 9995 939 W MDY %A THIUT IPITENTT NP 19 59T AN Yax

However, after that the »o» of "3 P73 revealed to us that mpb» is
applicable to 1"Y (even though they did not do a nwyn), we should say that the 1"y

Ix7.
? Generally when the 7n issues a punishment (like N3 or 7'°2 nn») for a transgression it states separately, the
prohibition to do this transgression, and separately the punishment for doing this transgression. This is called 71X
P "R Pwny. Additionally when the 770 writes a W (without mentioning a punishment), the punishment is
usually np%n, unless the X7 is teaching us something else (it is an 777X for another punishment). Therefore the X3
asks here since the 7327 maintain that there is no mpYn for the 7 of 71vn X2, what is it used for? [The X3 answers
that it is the 777X for the punishment of ont WX Y2 anwyy, therefore there is no MPHn for mwn K7.]
331,
* The mwn there (X,2) stated that in certain cases where we cannot carry out the ant "w> (for instance where the 07y
testified that the accused is a w173 72 or M3 2711n), the 2>7Y receive Mpn. We derive it from the 7109 (in [R¥n] 227
X,72) of W'Y YWIn nR WM P70 R P78, The X x there explains that we cannot derive their mpon 21n
(directly) from (3,5 [17n°] mnw) mwn K, since 7N X7 is a 7wyn 12 PRY W, only speech was involved no physical
action. Therefore we can seemingly say here too (by 1"v) that there is no mp%» for transgressing 7wn X7 (as »n")
maintains), because it is a 7wyn 12 PRW W2, Our NMOOIN rejects this solution.
> See footnote # 4.
% The n"a7 M7 amends this to read *p2°27 (instead of *P57).
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should receive’ mp» on account of 73vn 85.°

In summation: once the 770 teaches us (by writing "\ P>787 DX 1p°78M) that there is a Mpon 2rn
by 1"V even though it is a wyn 12 PRW W7, we should expect the 1"V to receive MpP» on account
of 71vn &Y as well (besides the mpon due to the ant AWwRD).

nooIn asks:
- 195 19915 PRy 17 153 DN NIAIRYD NIV IND 1T DIVN 39955 “NST 1NN ON)

And if you will say; that (nevertheless) the 1"y should not receive nmp»» for
transgressing the K> of 71vn X%, because 71wn X is a W8? which was given as a

warning for a death penalty by 7''>2, for which there is no mp» -
- Pmwas may 197 552 nndn nanIRY 11093W INY SN XM

And here this 8% of 71vn X2 was 7''52 nno» namRY 3091 by a case of nws: ny7y!

mooin offers a (possible) response to his question:
- 059975 PNInINY THA0NNR D91 MDY 22357 3WN RV Y W 1]

However one can say; that the X7 offers a better answer, that nivn X5 is

necessary as a warning for mpb» itself (as I explained) therefore there can be no
mpon for mavn X°.

" Once the 77N tells us that 7" 0™V receive NMpPHN (in a case of a 1A 32 [see footnote # 4]), we know that the rule
of Yo¥ PP? PR Awyn 12 PRY W2 does not apply by 1"V, therefore they should (always) receive mpon from 7wn X5.
[Presumably we cannot give them mpon from 12°7¥m (as we do by a 7w 12), because one can argue that the P105 of
1278 applies only when we cannot carry out the ont TwX> (as by a w173 12), however when we can carry out the
ant WwR3 we do not apply the p>78m. The 2 of 71wvn X2 however should apply in all cases.]
¥ It would seem that Mo assumes that the s'X7m3 question 121 7Iyn X °X:7 13271 is referring to the second case of the
mwn (where the 1" testified that the accused is liable for mphn), however regarding the first case of the nawn (where
there is NP1 1n) there is no question that the 1"y should receive Mpon since they derive from \nywA >3 that X
oW P10, See (however) 215 Tw.
? The n"a7 M7 amends this to read, Dw» 71¥N X927 %P9 X2 *NoX RN (instead of DW» P99 X97 MRN).
10 See P2 1"7 8,7 '01n [TIE footnote # 12]. When there is a 7"°2 nn 210 for transgressing a W (under certain
circumstances), there is no mp?» 211 (even if there is no 70 21°1). The WY was given as a warning that whoever
transgresses it may receive 10 211 (if appropriate), but not Mp%» 2. See ‘“Thinking it over’ # 1.
" The a7 N3 amends this to read, 1"R7 (instead of PRY).
'2 The n"21 N amends this to read, 17°n X1 Mws1 M7va (instead of 77 n Mws1 MTY).
" If the 1"y testified that one is 7"*2 nn*» 2n, the "'y will receive 7"°2 nn*n. The W of 7wn X> was given as a
warning for a case of 7"°2 nn°n, therefore there is no mp». This seemingly answers the s'R713 question.
¥ The n"27 N7 mends this to read *1wn M Xo>7w7 (instead of *1wn Xo*TYT). MOOIN proposed answer ( 0w R
7" nn°n NTIRY) only explains why the 1Y are not 1P1? because of 71wn X?; however the s'8 13 answer explains also
why there is MpYn for ant WS (it is 7711 80°7Y). See footnote # 25. See “Thinking it over’ # 3.
' Every punishment (like mp or 7in"1) requires an 777X (a warning) in the 770 that this action should not be done.
The only reason we carry out the o1 wx> and give the mpon 1"V is because there is the 71X of 7wn X9, therefore
there can be no additional mpn for 71yn XY since it is the 77X for onT WK,
' The n"27 M deletes the word n°w» 572, Others maintains that Mo is referencing the following 7771?77 0.
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In summation; the 1"y do not receive mpYn for transgressing mIyn X2 because (as NMDOIN
answered) it is 72 nn nIaTRY 101 and (as the RN answered”) 71N XY is the 777k for the
punishment of 2nT WK, therefore'® there is no mpbn arn for transgressing 7vn KX?; only the
punishment of on7 TWKD.

This would be sufficient to answer Md01N current question.
= DY NIT 920 INYWA 215 %Y NNIY NYP HT OONNN *3) DY HaN

However, previously regarding the case where the 1"V claimed he owes 2%nR®
17, why do the 7127 need the 7w27 of ynyws 97> to teach us that the "y do not

receive NMIPwR (since NTYWA '3 2N 1271 R'KY) -
- P15y PPV PN 127 5%3 NN NININD JN2IY IND 1N NN XYY 7YY PI19'n

The 7127 can derive it (that there is no mpYn) because myn X% is a MW IRD
7''92 nnv namRY, and therefore 9y PP R —

mMooIN anticipates a possible solution to his question:
- 211"1 %2 NN NINIRD 1Y IND YN XY NN zoN‘pm‘l 1999 HININ 222D N1 999

And if you will say that regarding 71vn X> being a warning not to testify falsely
regarding money, which we derive from 71vn X5, in this case of money mvn X7 is
not considered a 7''32 NN NYTIRYD 1NN IRD —

mooIn rejects this proposed solution
- DY NDT Nava ZannmT v xmp 91 naw) TPUNNY 2 P992 19999NX XNTIVPN N

This is not so; for the X ) states in Twnaw » 9o that one who drives an

animal on naw does not receive nMpo» -
- Banmnna) Hnx 1axDn Hun XYM 99931 DIUN

Because we derive the 110°X of 72172 from the 7100 of TnRT2Y NN ToR2 TwWYN KD

(You shall do no work; you, and your cattle) -
=999 NINDNA 127 N2 NN NININD INNIY IND N NN

And that X% of "3 798971 7wyn XY is a 7'"92 nnon namRD o R when he does

17 See footnote # 14.
'8 See footnote # 2.
" See “Thinking it over’ # 1 & 4.
%% The r1" 27 Mx7 amends this to read 537 (instead of XpoiT).
! mpoIn (in this proposed solution) is arguing that a 7">2 nn* NIATKY 171w K is only if the testimony can in some
manner cause a 7" nn» (if someone did a sin for which he is 7"°2 nn 217, but the 2°7¥ only warned him for
mpn) in such a case there is no MpYn since it is a 7"°2 NN NAMIRD I XY; however here when we are only
discussing 17n, the W% of m1yn X7 which the 1"V transgressed cannot remotely be associated with 7"°2 nn»», perhaps
in such a case it is not considered a 7"°2 nn°» NAATRY 17w XY and there could be MpYn with the 17 211 (therefore
the Xm3 has to resort to the answer of 1nyw1 *72).
2 qnn means one who drives his laden animal (donkey — 7nmn), and causes the animal to work on naw.
255 (M) maw.
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work with his body (when the Y% does work, 121 vy ,wm) -
=197 %2 NHMT T8 DY XID 799 99NHHT 2) DY 9N
Even though that by =% itself, there is no possibility of 7''>2 nns» -
=157 552 NN NINITND 1NV IND 1D 2PUN DIPN Yo
Nevertheless the X713 considered this 187 a 7''92 NN NTIRYD NI IND -
- NI NY ) N9 11 122 NNAY 393 NONN 72717 INDT 1199
Since this 8 is also for cases where there is 7''>2 nn» (by 191 noX97), so here

too by myn XY it is no different, since this 1% can come into play by 7" nn*» N (if the
1"y testified by a capital crime) therefore it always considered a 7"°2 nn NIAIRS 1021w R? where
19 P17 1R even if currently we are merely discussing 1.

In summation; it is considered a 7"°2 NN NITIRY 07w XY if there is a case where this X7 is a
7R for 72 nnk, then in any other case where this WY is involved even if in this case it is not
an 7"°2 nn°n NI it is still considered a 1°%¥ 1RI? PRY 702 NN NOAIRD IN0IW RG.

The question remains; why do the 1127 require the Yn¥wA *75 to acquit the 1"y from mMpHn, when
they can acquit him on account that 710 X% is a 7"°2 NN NIATRYD NP1 RS,

N1B0IN answers:
- YYIN 9N 13 BX 7 NI IMINTI YD 93T KON SINYT 1Y Y

And one can say; that here (by mivn &) it is different (from other cases of 0
7">2 nn°n nAnRY), for the oD revealed to us that there is NP7 on account of X5

mvn [regardless of 7"°2 NN NAIRY 10°1], as the PIOD states YW= NS 32 AN 71O,
etc. (which is [also] referring to 1"¥) -

= 911N 19 ON NIN WY RDT NN XY 0IWN *HY47 Hoon
Inferring that the 1"y receive nip>» on account of m3yn K> for the 770 does not

punish unless it warns and the warning for mpo» is 7wn X2. Therefore the X3 could not
have answered that the 73127 maintains that (3°"2wn1) 1212 7°X on account that 710 X7 is a 7w IR
7">2 nn°n NI, for we derive from 131 M1377 32 oR M that the 770 excluded the X of 71wn R
from the rule of 1"5¥ 1212 1K 72 NN NAAIRY 1122w WY (and from the rule of PR WY 12 PRY WY
POV PR9).

In summation; once the 7710 teaches through "3 37¥m "2 M7 72 aR "M that there is NP by
1"V (in the case of nw 12) for transgressing the W% of mvn XY (since 1°7m O"RR PWIY PX),
despite the fact that 773yn X% is 7"°2 NN NIAIRY 10, this proves that the rule of NAATRS IN°IW XY
Yoy PP PR 7"2 N does not apply to the K> of 7w 8.2

** See footnote # 4. See ‘thinking it over’ # 1.
* This would seemingly also be the answer to the previous question in M2 (see footnote # 14). We do not need to
say "Iwn 1 89°7v, but rather the rule of Y%¥ 1217 PR 7°2 NN NITRY 100w R does not apply by mivn X5.
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M5OI continues to ask:
= 13PN RN DY I 997 (3,397 DI NYP OIPN Yo YaN

However there is a difficulty nevertheless, previously when the X723 asked, ‘let

us derive the mpPYn 211 from YN R® (in a case where the o*7y testified that he is a 12

) -
- YU MIN 13 OR 7D %9 NNYY

So why do we need the P10 of w977 n1557 32 2K 797, This is the s'R13 question.

Mmoo asks -
= DY RYT NININ MN NP 93T IND IN YD

Let the X3 answer if not for the fact that the P92 of YW N2 72 oKX revealed

that there is mpYn, I would have said that there is no Mp»» by 1" -
- SPYIIDT 1T 152 NNSM NINIRY 1Y INY *nayn YT DIVN

On account of ;11pn X [for it is] a 7''52 nnv2 na7IRY 10w XY as I explained!

NIDDIN answers:
= 53w 1193910 NOTYT 11D W

And one can say that the X713 offers a better answer —

mooin offers an alternate solution:
VYYD 19509 XD 12001 01D NININ 1YY NPT 2asnm 299 1999 9399 VI ‘NI

And additionally one can say; that the X 3 asks this question (why is 71vn X?
insufficient) according to »''% who derives the 97X for "'y (to implement the

onr wRd) from the 7109 of MW 1BV R®Y (which is a 7™2 nnm NAARD I RY);
however 7m1yn X is only for mp?»n (where we cannot implement the on7 9wR2), but nevertheless
since it is a 7wy 12 PRY XY we would not know (without N7 32 X ) that 1"V receive mphn
(by a w1 12).

SUMMARY

The 105 of "2 P¥7X¥7 DX IPPTEM 1A M7 32 o8 M (from where we derive that 1"V
receive MpYn [in the case of w113 12]), teaches us that the various restrictions of
PHY PPI? PR IWYN 12 PRW IRD or 1PHY PRIY PR 72 Nk NATTRYD 100w K9, do not apply
to the W? of mvn XY (and therefore there should be an additional mpbn for

% The "7 M amends this to read 18> M3 myn (instead of ™71 mwn).

T 7190 XY is a mwYn 12 PR X9, Presumably we understand better why there is no mpon by a mwyn 12 RY WY (since
he did not do anything), than by a 7"°2 nn» nAAIR? 1022w W2 (which he did something extremely severe —there is a
7"2 nn 21 for doing it). [Alternately, by a Twyn 12 PRY X7 there is no Mp?n because the MoK is ‘weak’; however
by a 7"°2 nn°n NATRY 10°W XY there is no MpYn because there is no AXNT for NP9 (but not because the Mo°X does
not ‘deserve’ niphn.]

% See later this 7.
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transgressing this W? [except that according to the 1127 this XY is the 777X for the
vy of ont wRI, therefore there is no MPn]).

THINKING IT OVER

1. Seemingly once moIn answered in the beginning (regarding that 71vn X7 is a X7
7wyn 12 1PRW) that since X1p “737 that there is Mpon, this means that the exclusion of
Twyn 12 RY XY does not apply to 71vn 82;* how can '01n continue to ask that there
should be no mpvn since it is a 7"2 NN NATIRY 1w 1K;° for just as the 8P *23
teaches us that there is no exclusion of 7wyn 12 PRY WY, there is also no exclusion
of 72 nn*n NIATRY NI XY, as MPOIN actually answers!’' What was the question
in the first place?!™

2. When moon asks,” ‘why do the 73121 need the 1nywn *75 to explain why there is
no Mphm) an, they can explain that there is no MpYn since it is a NAAIRY NI KD
7"°2 nn°n’; why could we not answer there that *1wn 719 X9¥7¥ (as Mo0IN answered
regarding Mpom mphn)?!

3. Moo assumes that the X2 of 7Iwn X is a 72 NN ARSI X2; Why
therefore do the 1"¥ of WA 12 receive MP9n, since 7IvN X2 is a NIIRY 10w IRY
7"3 nnn?>

4. mooIn asks; let say that the reason the 1"y do not receive Mpn is because it is a
7">2 N NATIRL 1w RS, However, how is this answer better (or different) than
the actual answer of the X3, that 7wn XY is necessary for an m7mR (for the
punishment of ant 7wxD)? The s'Rn3 answer seems simpler and more direct!

¥ See footnote # 7.
30 See footnote # 10.
3! See footnote # 24.
2 See X"wAn.
33 See footnote # 19.
3 See footnote # 14.
35 See 0"wr 1193 and R"wAN.
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